HHTHE ZRHMSHEAEERER BfI:y Sv./h
MERENSDES
e R EE Heok/4 70 10cm 50cm 100cm
108 10A 258 108286 108 10A25H 10A288| 108 108258 10A288| 108 10A25H 10A288| 108 108258 10H 288
248 | g igmE® e | Fe | 2P 9 pEgl s | Fe | XP | 8 pEsi se | Fe | 2P| 8 ines Fe | Fe | 28| 8 kEs 5 | 5%

1 IREEARNT SABAKSEAF [ 1.073(1.029 $0.145 10.153 (0.142 |0.317 | 0.312 1 0.143 1 0.146 | 0.117 | 0.060 [0.081 {0.066 ; 0.065 (0.148 | 0.066 | 0.061 :0.053 | 0.045 | 0.063 | 0.055 [ 0.052 ! 0.047 {0.037 | 0.055
2 BEEEATT S RAMRKEKF | 0.739]0.852 10.167 10.132 (0.135 | 0.203 | 0.157 $0.088 {0.082 [ 0.088 | 0.064 | 0.058 :0.053 {0.052 [0.091 | 0.054 | 0.052 i 0.046 {0.045 [0.058 | 0.047 | 0.049 :0.046 {0.041 0.043
3 BIRZATTSRAMMIKEKT | 0.416]0.496 {0.189 {0.199 (0.169 |0.149 | 0.147 10.091 {0.101 [0.109 | 0.081 | 0.057 {0.057 {0.061 [0.125 | 0.054 | 0.064 :0.055 {0.056 |0.066 | 0.057 | 0.054 {0.039 }0.044 (0.052
4 FSREEETEH =] 0.063 :0.066 {0.075 0.062 0.062 0.064

% 0.171]0.092 {0.119 {0.110 0.133 |0.117 0.087 0.082 | 0.082 0.077 0.065 | 0.058 0.058
5 75k =] 0.164 :0.116 {0.128 | 0.115 0.102 0.059 0.065

7% 0.148(0.093 {0.147 1 0.150 | 0.103 0.118 | 0.088 0.083 0.077 | 0.064 0.065 0.064 | 0.056 0.049
6 FSRIEER £ [0.127]0.144 1 0.092 { 0.097 | 0.090 0.083 | 0.086 0.084 0.070 |0.070 0.055 0.055 | 0.053 0.056

x 0.393 {0.161 {0.153 | 0.103 0.135 0.074 0.066
7 BEA=MRO—T =] 0.200 :0.119 ;0.111 | 0.119 0.107 0.057 0.054

= 0.358 {0.131 {0.134 | 0.113 0.106 0.068 0.064
8 HEMZO—T =] 0.119 :0.050 { 0.061

= 0.127 {0.059 { 0.058
9 DHEMNEFERL 0.211 }0.055 {0.053
10 §FEmHAYD 0.050
11 SR8 (BX=54)) 0.099 0.050
12 RAE(FhR) 0.131 0.057
13 BAZDRIRE L 0.041
<LTFT&E>
14 BEEHR 0.066|0.070 0.073 | 0.065 0.062 | 0.067 0.059 | 0.058
15 TSRRRFEEMHIEE | 0.058(0.057
16 FEEZEARTTIAHEKE [ 0.077[0.073
17 815 0.035| 0.054

N — R (BN v - 5% —ES j _
18 1AL RS ERAIORLT B o ERADREL) e R ks R BRERORL
0.035 0.034 0.045 0.196 0.041
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